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185 2,345 347 2,014 234 112 19 219 94
1945 2,177 311 1,911 225 117 23 149 63
204 2,112 286 1,835 203 114 21 163 62
EiEthis 974 111 854 79 59 9 61 23
78 = Al ihis 650 91 570 73 34 7 46 11
B = ATihig 488 83 411 51 21 5 56 28
ZHEM 31 4 24 2 4 1 3 1
215H 122 32 100 19 8 2 14 10
[E & 97 11 84 8 7 1 6 2
—Bm 86 5 76 4 9 1 1 0
HE™ 11 1 7 0 2 0 2 0
FHEM 20 3 20 3 0 0 0 0
EBH™ 30 3 27 2 0 0 3 1
2 54 6 53 5 1 0 0 0
EET 25 2 24 2 1 0 0 0
Eigmh 22 5 19 3 0 0 3 1
N & 19 2 17 2 0 0 2 0
Z2HEM 136 23 119 18 14 4 3 0
™ 164 25 143 20 9 2 12 4
R 82 12 71 10 3 0 8 1
SEERTH 32 3 31 2 0 0 1 0
Kl 14 1 14 1 0 0 0 0
HigTh 40 6 31 4 6 2 3 0
Ifa™ 34 2 25 1 2 0 7 0
N 39 3 34 2 2 0 3 0
fRiR™ 122 11 114 10 8 1 0 0
it 94 9 83 8 4 0 7 1
wigh 18 1 18 1 0 0 0 0
b 25 2 25 2 0 0 0 0
M 23 5 19 2 0 0 4 4
I 14 1 12 1 0 0 2 0
EiRBH 2 0 2 0 0 0 0 0
=T 3 0 3 0 0 0 0 0
ERE™ 11 1 10 0 0 0 1 0
28 22 3 18 2 2 0 2 1
B 19 2 19 2 0 0 0 0
HIE™ 163 31 121 13 8 2 34 16
ZEm 48 7 42 5 6 2 0 0
-l 4 0 4 0 0 0 0 0
L2 HET 5 0 5 0 0 0 0 0
PRET 68 15 57 10 6 1 5 4

ERBUTHETH B 1ERER B AR B Z 0t
25 [EIEi | @R | 4% | @R | 4% | @R
oSk SRIERET 6 1 6 1 0 0 0 0
RAFH 18 2 10 1 6 1 2 0
BEEEHE 2L 1 0 1 0 0 0 0 0
ZFBHE 2 0 2 0 0 0 0 0
FHRER Nl 23 2 22 1 1 1 0 0
K ERHET 9 1 9 1 0 0 0 0
BERED tEHT 10 1 7 0 0 0 3 0
EFNET 24 1 22 1 2 0 0 0
B <FHT 5 0 5 0 0 0 0 0
K& 6 0 6 0 0 0 0 0
BETHT 24 1 22 1 2 0 0 0
REF 7 4 4 1 0 0 3 3
BIE 2 Bl A LL BT 20 3 17 3 0 0 3 1
BRHET 33 4 32 4 0 0 1 0
pEZ) 38 6 31 3 0 0 7 3
Elig 40 8 32 5 0 0 8 3
HEZE " 1 1 1 0 0 0 0
1E= AR —&Hr 12 2 1 2 1 0 0 0
& RET 14 2 12 1 0 0 2 0
&= AT 27 2 22 1 0 0 5 1
EHEAR SEFHHET 44 5 41 4 0 0 3 1
AR Z4FHET 16 2 16 2 0 0 0 0
JLERH AR ERHEHT 9 2 9 2 0 0 0 0
BRSRHET 8 1 8 1 0 0 0 0
LR - - 0 0 0 0 0 0
EERA /MR FHET 6 1 6 1 0 0 0 0
@ BEIREREN L ERERINESTRAE)
@Rl 3l KBS
®fEE 1 BERERFARVHMEFADOEHNTEINTINS,
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(58) RERERMBRCRESRICLHF AEREEEHE (FETHE) (B3I : ha)

BEFAEREEEE Fio F RER EFmE BEFAEREEEE Fio F RER EEmE
FEERUTEF FEERUTEF
B FIFIERTE | T EERE ¥ FIFAIEERE | AT 1ERSER B FIFAIEERTE | T EERE ¥ FIFAMEERE | FTE1ERSER
165FEE 2,379 2,362 17 8,866 8,317 549 Z50E BUERET 14 14 - 61 61 -
17EE 2,394 2,375 19 9,909 9,341 568 RAFHE 9 9 - 26 26 0
185 E 2,624 2,598 26 10,380 9,786 594 BEEBHE ZILHET - - - - - -
19FE 2,281 2,258 23 10,751 10,134 618 & HHET 0 0 - 2 2 0
205 % 2,210 2,188 23 11,431 10,791 640 FHRER KOHET 43 43 - 129 128 1
Rz 590 589 2 2,507 2,357 150 HRERET 4 4 - 22 22 0
78 = Al ihigk 1,236 1,236 0 7,091 7,032 59 HEERER =8 1 1 - 3 3 =
=i 383 363 21 1,834 1,402 432 Eli) - - - 2 1 1
ZHEN 0 0 - 3 3 - EBF6T - - - 1 1 =
215 136 133 3 534 462 72 KIAHET - - - - - -
FElEhT 173 173 - 829 819 10 B2 THT - - - 0 0 =
—&Bm 1 1 - 20 17 3 REF 21 21 - 66 65 1
HWET 2 2 - 9 8 1 % E FAT A L BT 9 8 1 26 23 2
FHM 3 3 - 26 21 5 BUHET 52 52 - 377 345 32
EBHT 1 1 - 5 5 0 Rk 61 61 - 165 159 6
2 51 51 0 248 219 28 Egidi) 17 17 - 134 125 9
EZBEm 1 11 - 89 88 2 HEHT 1 11 - 89 64 25
EFgh 45 45 0 271 265 6 B = AR — B HET 42 42 - 199 195 5
pUEAY 94 94 - 309 308 1 &5 RHET 51 51 0 498 496 2
£/l 336 336 - 1,484 1,465 19 & = BT 2 2 - 26 26 =
™ 261 261 - 1,640 1,636 4 A AR SEFET 32 32 - 347 344 3
mEM 112 112 - 1,113 1,109 4 FENEER = 4FET 39 39 - 168 166 2
SEERT 9 8 0 72 66 6 JLEREER SR ZEET 17 17 - 72 33 39
Kl 16 16 - 50 48 2 BKHET 1 1 - 11 8 3
BT 93 93 - 374 355 19 LiRF - - - 10 9 1
I 2 2 - 3 3 - ExEH) INSR SR 5 5 0 28 19 9
Mg 4 4 - 29 23 6
fRR™ 12 12 0 67 60 7 Ol EBEREZREMZATRES. BEAEZARUVHERERARLVICEABAIARERAROREIZETS
Al 84 83 1 280 263 17 FE THMEBRERRESNAE
wigm 6 6 - 23 23 - OIRH BEFEEMBIIEEFITES
KAFm 36 36 0 91 86 5 OfFEE 1 COBXEOEEICKY, EEEFSERELLYNMAEEZBET 5813, BHIEEIROHFANTELLD,
M - - - 41 40 1 2 T&REFIAESEEEREIE. REEN(AA1BHIS3A31BET) ICERAFIAEREEN A EINT
I 39 39 - 138 137 1 ROBETHY. [FRIFAESEEEHEIEEEERGAIIARENHIETHS.
EsRAETH 35 35 - 36 35 1
=Em 1 11 - 70 68 2
E=-1il - = = 0 = 0
ST 1 11 - 50 49 1
B 13 13 - 20 20 =
BT 81 64 16 580 324 256
ZrET 42 42 - 205 196 9
BAT - - - - - -
LEZHEN - - - - - -
FRE™ 61 61 0 264 252 12




